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3. S 5 B cosx = 0.7193 & THE51= x o thohe] tanx & 3H2?
P =) sin Ccos tan
44° | 0.6947 | 0.7193 | 0.9657
45° | 0.7071 | 0.7071 | 1.0000
46° | 0,7193 | 0,6947 | 1,0355
47 | 0.7314 | 0.6820 | 1,0724
D 0.9657 @ 1.0000 ® 1.0355

@ 1.0724 ® 1.9657



4. & IHANA x o 27

D 7+8V2 @ 7+8V3 ® 8+8V2
@ 8+8V3 ® 9+8v2



N

N

107} 10m Q1 Arete] 7} b2 13}

o] B A4 gt Atrkeiet AW
| o] &= Zte] 2717k 62° 4 o, A
O 2 HE Attt 7t g 37k 9
o] & Wh&§lsto] & A A7t
T3t (F, sin62° = 0.8829,
os 62° = 0.4695, tan 62° = 1.8807)

[

XNoHE 2

B .




ttS SHAHE]E ABCD oA AC = A D
18cm, /DOC = 60° ¥ ©], cABCD 9]
Blo|E Fotofet.

B on?



7. The HAAPAG] Holg Fatofet. A D

cCt-
a = cm?



8. the 1eld @ AB o Lol Fatelet

D 7V3cm @ 843cm ® 9v3cm
@ 10V3cm ® 11V3cm



9.

e JHofA x 9 FHe A5HH?

@ 243

® 3v2



10. 8 a4 AABC 7} AB = AC ¢ o]SHAZE A uj, AABO 9
Yol 2atm? ’

@ 1lcm? @ 12cm? @ 13cm?

@ 14cm? ® 15cm?



11. thg 2ol A AC, CD, DBE 591 0 ©] A
A, x+yo] LS Fotolt.




12. o2 1M A D, E, F = AABC 2] Y
HAYe] Al F-ol, AB = 7Tem, AC =
5cm, AF = 3cem W, ¥ BC 9] Zo]&
“totoizf,

5 L cm



13. o 233 Zo] oABCD7H ¥ O 8-
o ¢145tT 9t AD = 6, BC = A
169 o, AB + CD 9] g2 5}o]

=t. .
0]
pb—L
1 ---



14. o2 IHNA 2x+ 2y =7

@® 100° @ 110° ® 120° @ 130° ® 140°
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sin 0° = cos 0° = tan 0°
sin 45° = cos 45° = tan 45°
sin 90° = cos 90° = tan 90°
sin 90° = cos 0° = tan 45°

sin 0° = cos 90° = tan 90°
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of tfste] /DAB = x, /ZADB =y, /DEC = z
y
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@ siny =sinz @ tany = tanz

® tanx = CE @ cosz=sinx

® cosz=1
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D 53 cm @ 54 cm

@ 56 cm ® 57 cm

@ 55 cm
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P,R,Q = FHo|t}.
OP =5, OC =13 9 4], AABC 9] Ed|9] Zdo]=?

O 12 @ 16 @ 18 @ 24 ® 28
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